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Thursday, February 23, 2017

12:43 PM
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A couple M of magnitude 1.5 kN - m is
applied to the crank of the engine system

shown. For-eaech-of-thetwo posttionsshow;

determine the force P required to hold the

system in equilibrium.
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Torsion Spring

Monday, April 24, 2017 10:56 AM
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Torsion Spring Example
Tuesday, April 25, 2017 :

A rod of length L is affixed through a torsion spring
at A to arigid base. The torsion spring has a leg
length b and spring constant k£, = 0.10 1b-in./degree.

When a moment My = 4 1b-in. is applied at end B of
the rod, as shown, the rod makes an angle 6, = 81°
to the surface. Find the unloaded angle of W
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Four-bar linkage example
Tuesday, April 25, 2017 9:32PM

If the box has a mass of 10 kg, determine the
couple moment M needed to maintain equilibrium
when 0 = 60°. Negle%t2 gle mass of the members.
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